[image: image1.png]Problem 1: Behaving optimally

Consider a uiiy-mazimizing consumer who devotes all of his weskly income, 15720, o
‘purchases of caviar available at the market price =510 per serving) and bgrend denim jeans
(available atthe market price pr=S120 per pair). Compute this consumer’s optaaal consumiption

of caviar (x) and jeans (5) for each of the following possible utlity fanctions, and show your
work:

2) Ugky) = [2x+13y7°
b Uey)=Minlx 5]
o Uy =z




Problem 2

 [image: image2.png]Market failure, government failure, or both?




[image: image3.png]JockMart owns a large textile factory in a small, remote community. The JockMart factory is the
only souce of employment for the community. so that the firm enjoys monopsony power. The





[image: image4.png]supply curve for textile workers is described by L°=160w, where L is the number of workers
fired and i the hourly wage. JockMart's abor demand (or, equivalently, marginal revenue
‘product) curve i given by L°=1600-80w. Throughout your analysis, assume that JockMart is
anable fo “price-discriminate” (that s, it will pay the same wage fo each of fs employees).

%) How many workers willJockMat bice to msximize it profits, and what wage will he
S pay?

) How many workers would b bived, aad what wage rate would precail i the lsbor
ket wece prfecty compettive?

<) Suppos the govemment implements s s wage covering ll textle workers at S§
per houw. How many workers wl JockMar bire?

& Hustate your ausves to part ), b, aad ), n  dingrem. and compute the deadreight
o3 associated with the monopsony and i wage outcomes, espectively




